PRE-COLLEGE MATH






Name_________________________
WORKSHEET 32 – Triangle Applications



Period____  Date_______________
Round all answers to the nearest hundredth.  Remember to include units.
________________1.
Two Submarines starting from the same point cruise for two hours, one traveling 30 mph and the other 40 mph.  If their courses diverge by 40˚, how far apart are they at the end of two hours?
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_____________2.  
Two lighthouses, D and E, are located 12 miles apart.  A ship is observed between the two at point F, and an observer at lighthouse
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_____________
D notes that 
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 measures 70.5˚.  An observer at lighthouse E notes that 
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 measures 23.8˚.  How far is the ship from each lighthouse?
long_____________3.
A parallelogram has adjacent sides of length 11 cm and 8 cm, and






the measure of the included angle is 42˚.  Find the length of each

short ____________
diagonal of the parallelogram.
__________
   4.
A piece of wire 5.5 ft long is bent into the shape of a triangle.  One     

                                         side is 1.5 ft long and another is 2 ft long.  Find the angles of the __________

triangle formed by the bent wire.

__________ 
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________________5.
A 92 ft path cuts diagonally from Elm Street to Spruce Street.  It makes an angle of 68˚ with Spruce St. and 34˚ with Elm Street.  Determine the distance that is saved by using the path.
________________6.
The angle of depression of the closest point on the ground that is visible over the nose of the airplane is 13˚.  If a certain plane is flying level at an altitude of 5000 feet, find the line of sight distance from the pilot to the closest visible point on the ground.

________________7. 
A navigator locates his position, C, on a map.  He finds he is 52 miles due east of Port A, 43 miles from Port B, and the distance between the two Ports is 22 miles.  Find the degree measure of the angle at C.

________________8.
A triangular plot has sides of 1240 meters, 876 meters, and 918 meters.  Find the largest angle of the plot.

________________9.
The measures of two sides of a parallelogram are 50 inches and 70 inches, while one diagonal is 90 inches.  Find the angle measurements of the parallelogram.

________________10.
The Eiffel Tower in Paris casts a shadow 150 meters long when the angle of elevation of the sun is 63˚.  Find the height of the Tower.
________________11.
A salvage ship using sonar finds the angle of depression of wreckage on the ocean floor to be 13˚.  The charts show that in this region the ocean floor is 55 meters below the surface.  How far must a diver lowered from the salvage ship travel along the ocean floor to reach the wreckage?

________________12.
A kite string is 250 meters long and makes an angle of 36˚ with the horizontal.   Assume the kite string is straight and that it is held one meter above the ground.  What is the altitude of the kite?
________________13.
Strong winds have forced a tree to grow 18˚ from vertical toward the sun.  The tree casts a shadow of 63 meters.  If the angle of elevation from the tip of the shadow to the top of the tree is 25o how tall is the tree?



________________14.
Two sides of a triangular parcel of land are approximately 200 feet and 500 ft.  If the angle between the two sides is 75˚, what is the length of the third side?
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